

hush"_

EARPLUG SELECTION FACTORS:

Shape Ear canals are as unique as your finger prints. Choose an earplug shape that suits your ear canal the best. Earplugs come in multiple shapes like bullet, bell, flanged or T.

Size Choose an earplug that sits well in your ear canal. In some cases women & children may need a smaller size.

Ease of use Ease of insertion and removal is key step in selecting the right earplug.

Colour Certain colours like the bright Citron or Flouroscent Red make it easier to detect for contamination and also improve the safety complaince rate.

Variants Choose the variants that suit your needs the most

- Corder Vs Uncorded
- PU Foam Vs Silicone
- Disposable Vs Reusable
- Regular Vs Metal Detectable



Off The Job	Noise Lev	els	On The Job
Hand Guns	150 db		Passenger Jet Take Off
Earphones At Max Volume	140 db		Grinders
Jet Engine	130 db		Compressor
Music Concerts	120 db		Metal Saw, Meat Power Saws, Hammer Mill
	110 db		Saws, Hammer Mill
Power Saw	100 db		Meat Bowl Choppers, Electric Drill, Welding
Lawn Mower	90 db	► E	Bottling / Labeling, Crane
Driving	80 db		Packaging Machines, HVAC, Power Hammer
TV	70 db		Hand Tools
Classrooms	⋖ 60 db	•	Presentations
Conversation	▼ 50 db	•	Office Space
Birds Chirping	⋖ 40 db	•	

EFFECTIVE NOISE REDUCTION BY NRR

Noise level	33NRR	32NRR	26NRR	25NRR	21NRR	18NRR
110	93.5	94	97	97.5	99.5	101
105	88.5	89	92	92.5	94.5	96
100	83.5	84	87	87.5	89.5	91
95	78.5	79	82	82.5	84.5	86
90	73.5	74	77	77.5	79.5	81
85	68.5	69	72	72.5	72.5	76
80	63.5	64	67	67.5	69.5	71
75	58.5	59	62	62.5	64.5	66
70	53.5	54	57	57.5	59.5	61
65	48.5	49	52	52.5	54.5	56
60	43.5	44	47	47.5	49.5	51

Under Protection Optimum Noise Level **Over Protection**

hush Earplugs Listing

HUSH 50-13 Earplug Single Use NRR 32

- · Bright citron colour for high visibility
- · Tapered bullet shape that fits the ear canal easily
- · Made from soft PU foam for superior fit and comfort
- · Each pair is packed in individual polybags to maintain hygiene levels

Item #	Size	Material	Style	Colour
50-13 50-13C 50-13R	One Size One Size	Soft PU (Polyurethane) Foam Soft PU (Polyurethane) Foam	Uncorded Corded Dispenser refill bag	Citron Citron

NRR 32 | Suitable Noise Range 85-100 db

HUSH 50-14 Earplug Single Use NRR 33

- · Bright red colour for high visibility
- · Tapered bullet shape that fits the ear canal easily
- · Made from soft PU foam for superior fit and comfort
- · Highest Noise Reduction Rating for maximum protection
- · Each pair is packed in individual polybags to maintain hygiene levels

Item #	Size	Material	Style	Colour
50-14 50-14C 50-14R	One Size One Size	Soft PU (Polyurethane) Foam Soft PU (Polyurethane) Foam	Uncorded Corded Dispenser refill had	Fluorescent Red Fluorescent Red

NRR 33 | Suitable Noise Range 85-100 db

HUSH 50-15 EarplugMetal Detectable, Single Use NRR 32

- · Best in class 3mm metal ball and detectable cord
- · Made from superior quality PU foam for user comfort
- · Individually packed pairs to improve hygiene standards
- · Bright blue colour reduces chance of contamination in food production
- Metal detectable to reduce risk of contamination in food production

Item #	Size	Material	Style	Colour
50-15CD	One Size	Soft PU (Polyurethane) Foam	Corded	Sky Blue

NRR 32 | Suitable Noise Range 85-100 db

HUSH 50-33 Earplug Single Use NRR 32

- · Bright citron colour for high visibility
- · Bell shaped for ease of insertion and removal
- Made from soft PU foam for superior fit and comfort
- · Each pair is packed in individual polybags to maintain hygiene levels

Item #	Size	Material	Style	Colour	
50-33C	One Size	Soft PU (Polyurethane) Foam	Corded	Citron	

NRR 32 | Suitable Noise Range 85-100 db

HUSH 50-23 Earplug Reusable NRR 26

- · Bright citron colour for better visibility
- Made from silicone for long lasting user comfort
- Three flanged shape for easy insertion and removal
- Environment friendly option: Reusable and washable earplugs to reduce waste
- Each pair comes in a plastic carry case for ease of storage and improved hygiene

Item #	Size	Material	Feature	Style	Colour	
50-23C	One Size	Silicone	3 Flange	Corded	Citron	
			NRR 26	Suitable No	ise Range 80-0	5 dh





HUSH 50-25 Earplug Metal Detectable, Reusable NRR 26

- · Made from silicone for long lasting user comfort
- Bright blue colour reduces chance of contamination in food production
- Each pair comes in a plastic carry case for ease of storage and improved hygiene
- · Metal detectable plugs and cord to reduce risk of contamination
- in food production

Environment friendly option: Reusable and washable earplugs to reduce waste

Item #	Size	Material	Feature	Style	Colour
50-25CD	One Size	Silicone	3 Flange	Corded	Sky Blue
			NRR 26 Suit	ahle Noise Ra	nge 80-95 dh



Correct Usage

Disposable Foam Earplugs







Reusable Silicone Earplugs





MAINTENANCE

- Before use, always inspect earplugs or ear tips for dirt, damage, or hardness
- If found dirty then clean if possible, else discard & replace immediately
- Disposable earplugs should be discarded after use to maintain hygiene levels
- Reusable earplugs can last 2-4 weeks depending on usage and maintenance
- Wash silicone earplugs with mild soap/water, pat dry or air dry, and store in a case when not in use

CLICK HERE for FREE SAMPLE!

ORDERING INFO

Product Code	Packaging	UF	PC	Case	Pack Dimen	sions
Configuration		Case Pack	Inner Box	L (mm)	W (mm)	H (mm)
50-13	200 Pairs x 10 Boxes = 2,000 Pairs	6 28670 53101 5	6 28670 23101 4	640	420	290
50-13C	100 Pairs x 10 Boxes = 1,000 Pairs	6 28670 53102 2	6 28670 23102 1	640	420	180
50-13R	500 Pairs x 10 Boxes = 5,000 Pairs / Per case	6 28670 53104 6	6 28670 23104 5	520	390	350
50-14	200 Pairs x 20 Boxes = 4,000 Pairs / Per case	6 28670 53108 4	6 28670 23108 3	590	580	380
50-14C	100 Pairs x 20 Boxes = 2,000 Pairs / Per case	6 28670 53109 1	6 28670 23109 0	590	580	380
50-14R	500 Pairs x 10 Boxes = 5,000 Pairs / Per case	6 28670 53106 0	6 28670 23106 9	445	420	410
50-15CD	100 Pairs x 10 Boxes = 1,000 Pairs	6 28670 53103 9	6 28670 23103 8	640	420	180
50-23C	100 Pairs x 10 Boxes = 1,000 Pairs	6 28670 53105 3	6 28670 23105 2	640	420	240
50-25CD	100 Pairs x 10 Boxes = 1,000 Pairs	6 28670 53113 8	6 28670 23113 7	640	420	240
50-33C	100 Pairs x 10 Boxes = 1,000 Pairs	6 28670 53107 7	6 28670 23107 6	640	420	180
50-60	1 Dispenser / Box x 4 Boxes = 4 Dispensers / Per Case	6 28670 53110 7	6 28670 23110 6	520	390	350

Email: contactus@roncosafety.com

🜟 Also sold by inner boxes.

RONCO focus on quality

www.roncosafety.com